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Graph each equation.

27.y=56 28.x=-3 2.y
Write cach equation in standard form using integers. @ seePro
My=2c+5 32.y+3 =40 1) 3By-4= 23

1

34,y 2 35.y= 2r—1 36y +2 )

37. Video Games In avideo game, you earn 5 points for each jewel you find. You 49 See Pro
earn 2 points for each star you find. Write and graph an equation that represents
the numbers of jewels and stars you must find to earn 250 points. What are three
combinations of jewels and stars you can find that will earn you 250 points?

38. Clothing A store sells T-shirts for $12 each and sweatshirts for $15 each. You
plan to spend $120 on T-shirts and sweatshirts. Write and graph an equation that
represents this situation. What are three combinations of T-shirts and sweatshirts
you can buy for $1207
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29.
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3.2x—y=-5 32.4x—y=7
33.2x+y=10 34.x-4/=8
35.2¢+ 3y = —3 36.2x — 3y = -2
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37.5 + 25 =250

Points

REHEH

Number of Stars

09255075 100
Number of Jewels

Answers may vary. Sample: 50 jewels
and 0 stars, 48 jewels and 5 stars, 42
jewels and 20 stars
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38. 12t + 155 = 120

Shirt Order

Neowd

o

Number of Sweatshirts

0246810
Number of T-shirts

Answers may vary. Sample: 10
Tshirts and 0 sweatshirts, 0 T-shirts
and 8 sweatshirts, 5 T-shirts and 4
sweatshirts
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Find the x- and y-intercepts of the line that passes through the given points.
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52.(~6,4), (3, -5)
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Write an equation of each line in standard form.

60. The line contains the point (4, ~7) and has the same slope as the graph of
y+3 =50+ 4).
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60.5¢ — y = —13
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Graph each equation using x- and y-intercepts.

Voxsy=4 18.x+y

19.0-y

2. 2c+y=8 21 —axty=-12 2.60-2y=18
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